N of simulated tracks vs transverse vert position

N of associated tracks (simToReco) vs transverse vert position

N of simulated tracks vs z vert position

10°

10?

10

AIII-IJ SUN=DRWU=TWUTTO-TTTou

t—origiTat

—%3} Ig diter-NewERR

0.95 i d
1072 107 1 10

| N of associated tracks (simToReco) vs z vert position |

0.95 H H
10? 1072 107 1 10 10?

[N of simulated tracks vs.simPVz |

0.5

s
TTT T T
v
+
.

30 9 =15 =10 -5 0

=
TTT T T

093520 -10 0 10 20

of associated tracks (simToReco) vs. sim PV z |




	Contents
	Page 1


